PHY 321 Quiz F Tuesday, June 30

1. Assume this is a perfectly elastic head-on collision. Calculate the final ;i
velocity of the larger mass. “y ] g oI L hen /<¢ vé
e
o— @

Masses: m 3m g

2. Consider a rocket in interstellar space. For t < 0 the rocket is at rest. Att =
0 the rocket is ignited. During the rocket burn, the mass exhaustrate = p =
—-dm/dt is constant; and the relative exhaust speed is u. (Note that both p
and u are positive.) Determine the acceleration of the rocket a, as a function
of time. Sketch a qualitatively correct graph of a versus t. Assume mppa = 0.1
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X(t) versus t, for Q = 10.0;
blue: the exponential factor
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